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Stellenwerttabelle 4

1. Addiere die Zahlen.

20 000 + 900 + 20 + 2

30 000 + 8000 + 40 + 4

10 000 + 2 000 + 200 + 80 + 3 =
60 000 + 1000 + 600 +30 + 9 =
90 000 + 9 000 + 200 + 60 + 6 =
80 000 + 2 000 + 200 + 50 + 8 =
8 000 + 900 + 30 =

20 000 + 2 000 + 100 + 1 =

2. Wie heif3en die Zahlen?

ZT T H Z E Zahl Stellenwertrechnung Zahl
2 1.5 4 1 8ZT + 3T +7H +7Z + 2E
3 4 7 0 5 27T + 4E
48 364 47 281
8 3 0 7 O 9ZT + 4T + 4H
40 384 37 047
3459 73730

3. Zerlege die Zahlen.

57750 50 000 + 7 000 + 700 + 50
30 604
29 057
40 146
75 057
26 002
90 476
57 199
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